Escape from the Castle

Room 1: 1st Puzzle
I know for a fact that opposite faces on a die add up to 7. I worked out some possible combinations of numbers on a die that make 8, for example 1 – 1 – 6. Then I subtracted each number from 7 and I got 6 – 6 – 1, which totals to 13. I tried again with the combination of 1 – 2 – 5, and the outcome was 6 – 5 – 2, which again adds up to 13. After some more tries, the answer still was always 13. As the opposite faces on a die add up to 7, I think a representative sum of the whole problem could be 21, which is 7 x 3, minus 8, because the numbers on the tops of the dice always add up to 8. So:
21 – 8 = 13. Using this as a logical explanation, we can be assured that the sum of the numbers on the bottoms of the dice will always be 13. The 1st key number is 13.
  Something strikes me about these numbers… 8, 13 and 21. And the difference between 8 and 13 is 5… I think I see a pattern coming along here – the Fibonacci sequence?

Room 2: 2nd Puzzle

Okay, so, the first two cards add up to 13. To work this out, first I tried some different possibilities of numbers that could add up to 13, and then continued from there, trying to see if the numbers fit the conditions set in the puzzle. I worked out that having the first 2 cards as 9 and 4 wouldn’t work, as that would mean that the last card would end up as a 10. This means that the 4th card has to be larger than 6. I then tried having the first two cards as 8 and 5, in that order, and the outcome was 8 – 5 – 4 – 7 – 9. To check the puzzle through and make sure that this was the only possibility, I tried making the first two cards 7 and 6, but then both the 4th and 5th cards ended up as eight, and that’s not allowed. Finally I tried the reverse of the numbers I chose for the first two cards, i.e. I tried 4 and 9, then 5 and 8, and then 6 and 7, but these combinations just messed things up completely. So I’m quite confident on the sequence of 8 – 5 – 4 – 7 – 9, and so, the 2nd key number is 9.

Room 3: 3rd Puzzle

This means that the rectangle’s area is 5cm x 9cm, making 45 cm², though I don’t think this is relevant! The height of the rectangle is the same as the height of both of the circles, so I can work out that the diameter of each circle is 5cm. Consequently, the radius of each circle, which is what we need to answer this question, is 2.5 cm. The centre of each circle is 2.5 cm away from the side of the rectangle, so if we want to find the distance between the centres of each of the circles, we have to subtract 2 x 2.5cm from 9cm. This ends up as 9cm – 5cm = 4cm. 4² = 16, and 16 – 1 = 15. So the 3rd key number is 15. 

Room 4: 4th Puzzle

Each side of the square adds up to 15 cm. I realised that the number 1 could not be in a corner, because there is only one possible combination using the number 1: 1 + 6 + 8. And if 1 was in a corner, you would have to use these numbers twice, so that’s not allowed. We now know that 8 and 6 must be on the corners either side of 1, but on which side of 1 doesn’t matter because the answer to this puzzle will be the same if you rotate or flip it. We’re now looking for what will fit into what we have already found. I found the possible combinations using 6: ‘6, 2, 7’, and ‘6, 5, 4’. I then found 2 combinations using the number 8, which were: ‘8, 2, 5’, and ‘8, 3, 4’. Now I’m looking for one combination using 6 and one combination using 8 where no two numbers are the same. Well, I can’t use the combination ‘8, 2, 5’, because both 5 and 2 are used in both of the combinations concerning 6. This means that the combination including 8 that we must use is ‘8, 3, 4’. There is only one combination using 6 that doesn’t share any numbers with ‘8, 3, 4’: ‘6, 2, 7’. The only number we haven’t used yet is dear 5. The numbers either side of 5 must add up to 10, and the only two digits in each of our 6 and 8 combinations that add up to 10 are 7 and 3. So, below is what the square would look like:

Of course, the layout of these numbers can be flipped or rotated, but this is the basic order of numbers. Now, to find the 4th key. 6 + 8 + 7 + 3 = 24. 24 – 10 = 14. There we go!

Room 5: 5th Puzzle

There can be 14 tarts in each tray. The total number of tarts is somewhere between 15 and 27. First I can try each multiple of 4 where 3 added to it makes a number between 15 and 28 and 1 more than a multiple of 3. If I start with the smallest multiple of 4 possible – 12 – and add 3 to it, I get 15. But 15 is a multiple of 3, so that doesn’t work. The next multiple of 4 up is 16, and 3 added to it is 19. This is also 1 more than a multiple of 3, so this should be it. But, I’ll just check the rest of the numbers just to make sure. 20 + 3 = 23, but 22 is not divisible by 3. 24 + 3 = 27, but this is a multiple of 3, so this can’t work either. We can’t go higher than this, so I’m positive that there are 19 jam tarts. So, 19 is the 5th and last key.

The Ultimate Puzzle

Here is a list of all the numbers of the puzzle:-

· 13

· 9

· 15

· 14

· 19

The 13th letter of the alphabet is M. The 9th letter is I. The 15th letter is O. The 14th letter is N. The 19th letter is S. Our letters stand as M, I, O, N, and S. Aha – I’ve got it! Simon!

Voilà.
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